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b5 0.04 0.04 — PA-1000
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b5 0.05 0.04 — PA-1000
Ot hIER (GZ) — 0.08 — PA-1000
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=
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QOIBERIGFR — 0. 09 — PA-1000
1/50K) QERER T — 0.10 — PA-1000
@EIEL Al — 0.10 — PA-1000
GEREIL R — 0.12 — PA-1000
ibi5 0. 07 0. 07 — PA-1000
Ot ol ER (G2) — 0.12 — PA-1000
QIBERIGAR — 0. 09 — PA-1000
8/1(%) QERERI T — 0.12 — PA-1000
@EEL ARl — 0. 07 — PA-1000
GEREIL A — 0. 10 — PA-1000
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OBt ER () — 0. 11 — PA-1000
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Ot FLER () — 0.16 — PA-1000
QIR IZFT — 0.12 — PA-1000
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GBI A — 0.13 — PA-1000
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O L ER (Z) — 0.14 — PA-1000
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6.6 (K) QEEmR A — 0. 11 — PA-1000
=Y @E LA _ 0.14 — PA-1000
GEEL A — 0.14 — PA-1000
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Ot ER () — 0.14 — PA-1000
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i 0. 09 0. 09 — PA-1000
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3.78(%) FBh |QEEREAEA — 0. 14 — PA-1000
O] — 0.13 — PA-1000
GEBEILH A — 0.12 — PA-1000
=, NFREEERA) — 0. 09 0. 11 PA-1000
2/18(H) &Y 1FR—IL (BR) — 0. 08 0. 07 PA-1000
Ot b E () — 0.18 — PA-1000
Q5 0.10 0.10 — PA-1000
2/78(&) Bh |QEERAEE — 0.12 — PA-1000
@EFEAL Al — 0.17 — PA-1000
BEFEIL A — 0.14 — PA-1000
O L ER GZ) — 0. 21 — PA-1000
Qb5 0. 11 0.10 — PA-1000
1.724(K) Y |QEERAEA — 0. 11 — PA-1000
@EREL FEAI — 0.18 — PA-1000
GEFEL A — 0. 14 — PA-1000
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1,22(K) M [1IFAA—IL(BR) — 0. 09 0. 09 PA-1000
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9/18(:k) £
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Q15 0.10 0. 10 — PA-1000
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GEREIL A — 0. 14 — PA-1000
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6.715(&) Bh |QEREFR7aHE — 0. 22 — PA-1000
@EREL 1A — 0.17 — PA-1000
GEREILFAI — 0. 16 — PA-1000
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OB L ER () — 0.22 — PA-1000
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@EFEL Tl — 0.14 — PA-1000
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